Ccgpsc

CGPSC State Engineering Services Exam 25th April Shift 1

Notations:
1.Options shown in green color and with % icon are correct.
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Question Number : 1
Correct: 2 Wrong: 1
Which of the following Indian States will go to the Assembly polls in Year 20167

Options:

M

A # Uttar Pradesh, Manipur , Punjab

B. #® Jammu and Kashmir, Bihar , Jharlhand

C. ¥ Assam, Kerala, Tamil Nadu and Puducherry
D. # Uttar Pradesh Kerala , Tamil nadu

E. % Jammu and Kashmir, Bihar, Punjab.

Question Number : 1
Correct: 2 Wrong: 1

TH D T T Tt § o 2016 H FerereT g g
Options:

A % TS, AT, U=

B. % w3y ey, T@EN, REs

D. % FEUZE e, TS

E %® o oft wedie, foEm, o=

Question Number : 2
Correct: 2 Wrong: 1



Which Actress has won the §2nd Mational Film Award i Year 20157
Options:

A * Konkana Sen

B *® Priyanla Chopra

C. % Alia Bhat

D. ¥ Eangana Fawat

E. # Anoushka Sharma

Question Number : 2
Correct: 2 Wrong: 1

T 2015 H o It = 6247 T Ohel Qe SiiaT?
Options:

A % ot ET

B. % fe meT

c. * T

D. ¥ TAT T

E. * argeepr amf

Question Number : 3

Correct: 2 Wrong: 1

Among the following, Who has been awarded the Padma Vibhushan in 2015 for contribution to Trade and Industry ?
Options:

A * Bill and Melinda Gates

B. ¥ Shri Karim Al Hussaini Aga Khan

C. ® WMs Bimla Poddar

D. * Nr. Manjul Bharghava

E. * Prof Malur Rama SWALLLY Sriivasar

Question Number : 3
Correct: 2 Wrong: 1

SATI 3T T # ST AT 3 & Tong, ad 2015 # fareg oy Tanqmor emr T ma am
Options:

A % T i AT Ted

B. ¥ off ST 31 FEAT 37 @

C. % ot Eem OR R

D. % off gget g

E. ® UTHER Ao THTEaTHT Sifeem

Question Number : 4

Correct: 2 Wrong: 1

The first mechanical computer designed by Charles Babbage was called:
Options:

A % Abacus

B. ® Processor

C. ¥ Calculator

D. ¥ Analytical Engine

E. * None of these



Question Number : 4

Correct: 2 Wrong: 1

T el GIRT G2 T TTIT UgelT ATk et gl Phgl T2
Options:

C. *® ufeates (Frgoiet)
D. ¥ g g=
E ® oo agt

Question Number : 5

Correct: 2 Wrong: 1

Which city in France will serve as a model for our "Smart Cities'?
Options:

A * Parig

B. % Marseille

¢. ¥ Toulouse

D. % Dlice

E % Lyon

Question Number : 5
Correct: 2 Wrong: 1

TRTE T 1= €T STET 'EATE THTE STERT & Told TeF HiSe o ©0 H @79 @1
AT

Options:

A % Of

B. ® Hdzen

c ¥ aara

D. ® g

E * &+

Question Number : 6
Correct: 2 Wrong: 1

Who is the first Vice Chairman of the NITI Aayog 7
Options:

A * sindhushres Khullar

B *® Faghu Rajaraman

c. ¥ Arvind Panagariya

D. * Prashant Bhushan

E. % Narendra Modi

Question Number : 6

Correct: 2 Wrong: 1

T 3T o TEel JUTETH DI &7
Options:

A ® TEepft geon

B. ® T TRAT



¢, ¥ afas uETEaT
D. % g symm
E ® stzaer

Question Number : 7
Correct: 2 Wrong: 1

Who 15 the present Chairperson of the Indian Premier League?
Options:

& # Lalit Modi

B. ¥ Rajeev Shulda

c ® Marayanswanyy srinivasar

D * Gundappa Vishwanathan

E # Jagmohan Dahmiva

Question Number : 7
Correct: 2 Wrong: 1

WA 121 TR 51T T e AT el i &7
Options:

A % T WS

B. ¥ Tfia g

C. ® JrrEEETT e

D. % T e

E ® SmmigT STAmEar

Question Number : 8
Correct: 2 Wrong: 1

Who 15 the First Indian to became no. 1 in world Badminton ranldang?
Options:

A ¥ Pralash Padulcone

B. ¥ P.V. Sindlu

c ® P.Gopichand

D. ¥ Saina Nehwal

E #* Jwala Gutta

Question Number : 8
Correct: 2 Wrong: 1

TRTH {17 AT TePel eETHe T (anT # e 1 &7 7= Ui Tema 87
Options:

A TS TTEgEROT

B. % ot F Ty

c. ® ot mfEg

D. ® {rET TEaTe

E * samrer

Question Number : 9
Correct: 2 Wrong: 1

India's first supercomputer is named:
Options:



A % A

B. ¥ Param

C. * Tristnl
D * Aryabhata

E. * None of these

Question Number : 9
Correct: 2 Wrong: 1

AT & Ugel GO HEIET BT A & -
Options:

A % g
B. ¥ mH

c. * Tum

D. # amfg

E % s & o e

Question Number : 10
Correct: 2 Wrong: 1

Which are the most commonly found rare earth minerals found along the Eastern Coastal areas of Odisha?
Options:

A ® Magnetite

B. ¥ Monazite

C. ® Iimenites

D. # Homblende

E. ¥ Sillimanite

Question Number : 10
Correct: 2 Wrong: 1

ST & qoff e At & e wTaT Ty S AT gt & gehy ahe meef a2
Options:

A % BT

B. % wieTge

C. ¥ geremEcE

D. ® gideniz

E ¥ g

Question Number : 11
Correct: 2 Wrong: 1

Which Petrolewmn ol field is located in the Gulf of Khambhat 7
Options:

AV Lung

B. * Digboi

c *® Badarpur

D. * Mumbai High

E * lakoa

Question Number : 11



Correct: 2 Wrong: 1

Tt a7 S Torr der & T T T e 2
Options:

N i

B. % TEmarg

C *® gy

D. ¥ gt e

E % sratam

Question Number : 12
Correct: 2 Wrong: 1

What 15 identified as the most important activity to be stopped, which would help clean the Ganga River?
Options:

A B Bathing and ritvals practiced

B ¥ Dumping of untreated sewage

C. ® Deforestation in the water shed area

D * Building facilities for tourism.
E. # MNone of these

Question Number : 12
Correct: 2 Wrong: 1

TeeT TR TelTer & Hael Hgcadol AT ST &, TSl aig, @ T ST & 7T o] @1 61 @i § Bgg [Hoi?
Options:

A % TETAT ST e TEml e

B. ¥ argifee dies &t =

C. ® SemE &= ¥ a4t &7 wers

D. * wied & T gieremy a4

E ® gad @ &7% T8

Question Number : 13
Correct: 2 Wrong: 1

What 15 the mam focus of the Mansen [nitiative” started by MNorway and Switzerland and supported by Bangladesh, which is of
advantage to India?

Options:

A #® Toreduce greenthouse gases emissions, by getting dev eloped countries to conunit how much they will spend
B. ¥ Plan for technolo gical mnovations to reduce the impact of pollutants by mdustry and automobiles

C. ® Share research findings on climate change and new technologies between developed and developing nations
D. ¥ Climate change, disasters, and human mabiity i South Aszia and the Indian Ocean region

E % Approve geo - engineering strategies to mutigate climate change, disasters and lnunan mobidity.

Question Number : 13
Correct: 2 Wrong: 1

H1d 3R Eagiis gRT € 0 M7 Y aiame e gRT GamT HTE- Tge, ST 0 9T & o) TEae &, @7 §ET 783 47 o7
Options:

A ¥ ToepTe 39T o7 Uid g weard gu o o T e e, W grae 9t o Jeesid o e

B. ¥ IEIT ST AE-T ST MGHUT o W T WH WA o T ST I Aeme @ T s

C. ® ToepTen ofiv TEamasiier Zort 3 = 9% Wit i Seans aiad = 0t SIgEe & o a1 @

D. ¥ & OiEeT 3T BT HETET &5 § Sorany aiad -, ugtelt, o ATe mia et




E. * Sy uitad, smugrait ofit ATe i sieaT ol 0 @ & o o ST TriTa o g 31

Question Number : 14
Correct: 2 Wrong: 1

Which of these Waterways 15 The MNational Waterway- 37
Options:

A B Bralunaputra water way - Miamvati to Sadia

B. * Fast Coast Canal - Talcher to Dhamra

C. ¥ West Coast Canal - Eottapuram to Alapuzha

D. * Ganga Water way - Haldia to Allahabad

E. * Godavari Krishna waterway -Ealdnada - Puducheri

Question Number : 14
Correct: 2 Wrong: 1

T AT H & D1 & e AerdATT 37
Options:

A % TR ST - TRmeE T | |t

B. % UET T AT - T & T

C. ¥ Ofeenit TE1 AT - TISTH ° g
D. ® 1A - gieaar & SAEdTs

E. % TTat! §eo SedT - SISt -qgerr

Question Number : 15
Correct: 2 Wrong: 1

Which 15 the eco - region in which the Malwa Plateau , Chhattisgarh Plateau, Eastern Plain are classified by the Indian Agriculbure
Eesearch Institute?.

Options:

A % Semi-Arid
B. * Humid

C. % Ard

D. ¥ Sub Humid
E. * Montane.

Question Number : 15
Correct: 2 Wrong: 1

I H TR 0T- &3 |, HIoel T8I, T0ieTg o SR, el Har , 9 127 Fi SIgee- ST GrT aiigd e 77 87
Options:

A % aref g

B *® a/Am

c. *® g

D. ¥ anfam

E ® mefdi

Question Number : 16

Correct: 2 Wrong: 1

Which one of these sea creatures changes its colour?
Options:

AY Octopus



=ea Horse
Jelly Fish

Hea Ansmone

R

D ¥

E. % Star Fish.

Question Number : 16
Correct: 2 Wrong: 1

T GG ST | DI 20T UT agmdT 67
Options:

A ¥ afriog
B. % i gigr
C. ® ST T

Question Number : 17
Correct: 2 Wrong: 1

What 15 the law m which under the same conditions of temperahure and pressure, equal wolumes of all gas contain equal munber of
molecules?

Options:

A % Snell's law

B. ® Colicli effect

C. % Grahanr's law
D. * Pascal's law

E ¥ Avogadro's Law

Question Number : 17
Correct: 2 Wrong: 1

TR T o T8, FAN TET AT ZaTe i O e at o, Jft Tl T g St O § S7art S 6w 6 U St gl a7
Options:

A % ger o e

B. ¥ wiTerafielt waTe

c. ® gy o e

D. * urewdma @7 Haw

E ¥ 3EmEt @ fam

Question Number : 18

Correct: 2 Wrong: 1

What is the special nature of ‘Collagen’ in the wman body?
Options:

A B Helps blood to clot

B. ¥ Most abundant protein,

C. ¥ Moves the calcium in the blood stream

D *® Helps cells divide and multiply

E % Helps hair get its colour

Question Number : 18
Correct: 2 Wrong: 1



AT ST | "Bl @7 T8 T 9T &7 27
Options:

A ggT e B O FT IS

B. ¥ Tae Iy oI H e

C. % v §T 4RT H Hieaad B WEed T s
D. % epifdenrert o T o T H Ag g AT
E # STt ol 39 07T U # 73S T 8

Question Number : 19
Correct: 2 Wrong: 1

Among the following which one is a MNorth flowing river?
Options:

A B Ganga

B. % Bralunaputra

C. ¥ Narmada

D. * Kaver

E. ¥ Chambal

Question Number : 19
Correct: 2 Wrong: 1

TafmET ® & @ ° 75T IR AN Tl g
Options:

A %

B * aga

c. ® aar

D. ® mrenr

E ¥ T

Question Number : 20
Correct: 2 Wrong: 1

Which one of the following when burnt in the air does not produce Carbon Diozide?
Options:

A * PBiomass.

B. #¥ Ethanol

C. ® Water

D. ¥ Hydrogen

E ® sulphur

Question Number : 20
Correct: 2 Wrong: 1

TAH | FIT A gaT H AATAT AT & A1 Dl SEATFHEES g T TaT e
Options:

A % grETAET.

B. ® gdeta

c. ® o&r

D. ¥ glEgieH

E * gy



Question Number : 21
Correct: 2 Wrong: 1

Which elements do all organic molecules contain?
Options:

AV Hydrogen and Carbon

B *® Hydrogen , Oxygen

C. * Carbonand Czygen

D *® Hydrogen and Ozygen

E % Only Oxygen

Question Number : 21
Correct: 2 Wrong: 1

I | Tedl 91 hleli-en st § giaT a7
Options:

AV ETEES o T

B. ® gregied, sfoaraT

C. % P AT T

D ¥ greioe ot sifqdiem

E % Tot sffeeia

Question Number : 22
Correct: 2 Wrong: 1

Where will the comumon wealth games 2018 will be held?
Options:

A ¥ Australia

B. # Jamaica

C. * New zealand

D. * Malaysia

E. ® None of these

Question Number : 22

Correct: 2 Wrong: 1

TIAAC TR 2018 TET AT TehaT SAmgm?
Options:

A Y arefeET

B. % e

C. % =i

D % gafemEr

E ® zA0 & o715 8

Question Number : 23
Correct: 2 Wrong: 1

What 15 the hypothetical umt measuring satisfaction of a good or commodity referred to in Economics?
Options:

A ® Central Tendency

B. # Measure

c. ¥ Utils



D * Cost
E. % None of these

Question Number : 23
Correct: 2 Wrong: 1

arefarrer I TR |THT AT e o | IE-€a¢ i A0 &1 Pleui-h SeTs AT gl 57
Options:

A *® FERTUER

B * mm

c ¥ gie|

D % AT

E ® gad @ &7% T8

Question Number : 24
Correct: 2 Wrong: 1

What change in the granting of banle loans to farmers has been suggested given that in India 45% of small and marginal farmers
have access to institutional finance?

Options:

A ® Interest free loans by banlks to small and marginal fanmers for traditional farming methods.

B. ¥ Banlks give long term loans with interest subsidised by Government for new ventures i agriculture
C. ® Farmers are given loan facilities lce ware houses and farm equipiment

D. * Banks give fanmers who can prove their credit worthiness short term loans

E. * Banks are being graded as efficient based on the recovery of loans given to small and marginal farmers

Question Number : 24
Correct: 2 Wrong: 1

%@Hﬂ’faﬁaﬁﬂméﬁﬁwwﬁaﬁww%‘, THD HE AT T W H Rt 45% @1 #f1C ST a1 &t e o &7 uge

Options:

A ® Rt ST T P O $1E ST ST et T s g A,

B. ¥ o # 90 IUwHT & T S, AT ST HeTT T =27 T wiFell S1Tel o 0 o &
C. % TigTAT 3T P Fuerr 3 oy ReeTt ot For iy of AT §

D. ® Hor 3= et @t gier STeter & o0y 07 3§ S SI0T S0T OIS |ie B Han
E. ® gic offv S fremt o T 0 St T eRge o ATe Uy et o i T S E,

Question Number : 25

Correct: 2 Wrong: 1

Which Indian public fipure started a university to blend Indian and Furopean thought and art and culture 7
Options:

A ¥ Rabindranath Tagore

B. # Subramaniam Bharti

C. * Ishwar Chander Widyasagar

D. * Madan Mohan Malviya

E. * None of these

Question Number : 25
Correct: 2 Wrong: 1



T AT 17 AT e a1+ WA 17 3T LT Tearme ofiY &hefl U 6edid @ Tahar]

Options:

A T BT

B. ® ganiom aedt
C. ® zoy o= e
D. * mad §igd A
E ® sA0 @ &g 45!

Question Number : 26
Correct: 2 Wrong: 1

Which sector has declined from19 % in 2004-2005 to 14% percent share in the Gross Domestic Product m 20157
Options:

A ® Finance, Banlang, Feal Estate.

B. % Manufacturing and Allied sectors

C. ¥ Services

D * Electricity and Gas supply

E ¢ Agriculture and allied sectors

Question Number : 26
Correct: 2 Wrong: 1

2015 & Hehel Wi IoUTg § TR & T EEEa, 2004-2005 & 19% € 14% T W87
Options:

A % Towm, Sff, TTeR HOST/ e w6

B. % Tafamfm ot dag &=

c % et

D. * Taet 3fiv e e

E. ¥ i 3fft werg &

Question Number : 27
Correct: 2 Wrong: 1

What 15 the ternm used in India to describe the reserve that comumercial banles have to maintam in the form of gold, cash or
govertunent bonds 7

Options:

A *® Cash reserve ratio

B. ¥ Interest rate

c statutory Louidity ratio
D. *® Fepo Rate,

E. * Reverse F.epo rate

Question Number : 27
Correct: 2 Wrong: 1

AT T2 dent @i THT, Awal AT T TS o 0 H To e /T @ ey TE-T USdT & 99 a7 fgd 87
Options:

A % e Teel Ta /SRS e fATEr ST

B. % = 2l

C. ¥ Tt TTEer et / ifate eaaT ST



D. % Wray
E # faediurat

Question Number : 28
Correct: 2 Wrong: 1

"Prosperity cannot be achieved through unlimited exzpansion of credit.” Which of the following events proved this without doubt?
Options:

A B Collapse of Grant and Ward Company

B. ® Charter to East India Compatry

C. * Coal Block Allotment

D. ¥ South Sea Bubble

E. ¥ Enron Bubhle

Question Number : 28
Correct: 2 Wrong: 1

T, e o SEITHT T @ HTeH & g8 Aol ol AT Tehd | g1" WFiad # § o gear o I adg aiied o fezm -

Options:

A ® T A g UE U= 9T ST @ uaA
B. ¥ gvz sUEar Gl ol T

C ® @I et AT

D. ¥ & AR gt (bubhble)

E. % Uae gerges (bubhle)

Question Number : 29
Correct: 2 Wrong: 1

Which Index for the United MNations was developed by the Indian economist Amartya Sen and Paldstani economist Mahbub ul Hag 7
Options:

A ® Genuine Progress Indicator

B. ¥ Human Development Index

C. ® Gross Domestic Product

D. * Index of Human Economic welfare

E. * Sustainable development Index

Question Number : 29
Correct: 2 Wrong: 1

T L o Tl i |7 Trenteh | 127 srefamat sl 8 ot UTiehea 1 Srfamett Heee 37 5o &7 Terehiera Temar 1T &
Options:

A % gregiad wiE "ade / Sga e shadet

B. ¥ O T gereTd / g SdeHe sead

C. % Hwe e Iog

D. #* [ AT T @ g

E. % g e o7 e

Question Number : 30

Correct: 2 Wrong: 1

Which State in India in 2013-2014 had the highest contributor to Gross State Domestic Product at Constant 2004-05 Prices (in Rs.
Crore)?

Options:



A ® Uttar Pradesh,
B. # Karnatalea

C. * Tamilnadu
D. ¥ Maharashtra
E * Kerala

Question Number : 30
Correct: 2 Wrong: 1

AT | 2013-2014 # FFT T &7 2004-05 & HAGT (T FIS H) O, Thol O], o018 J 7R SFaH TG 417
Options:

A % FEEWES

B. ¥ gfew

c. % Fitw g

D. ¥ W

E % e

Question Number : 31
Correct: 2 Wrong: 1

Under which Fight in our Constitution 1 "Child Labowr prohibited?
Options:

AV Fight against Exploitation

B. # Fight to Ecuality

c ® Fight against untouchability

D. *® Fight to Constitutional Remedies.

E ® Fight against discrimination

Question Number : 31

Correct: 2 Wrong: 1

FHTC | & Foper 1T o a5 “aTe Aerg L famer 87
Options:

A g 3 ey st

B. * @HHET @7 TR

C. ¥ 3EeTET o oty SITUwN

D. % waremer T @y i

E * sigure o e srfeem

Question Number : 32
Correct: 2 Wrong: 1

How does the rigid nature of the Indian constitution support the Federal structure?

Options:

A ® State and centre can enact laws within their spheres of control independently,

B. ¥ All the functions of the State and Centre are clearly defined m the Constitution schedules.
C. % Amendments to the Centre State relations have to get State and Centre approval.

D. * Constitution stands above the Centre and State in all matters of the country.

E % State and District and Local govertunent have a hierarchical relationship

Question Number : 32



Correct: 2 Wrong: 1

Options:

A % T ofT ST TEa S €0 F S THEE0T 3 S AT ST H e o awe

B. ¥ Tr=a 3fIT BT O A W I ST TR H €0 €0 O I

C. ® g v Heret # e O o0 T ofiT e ST T He[el U @At g
D. #® o5 o AT H Gl g ot Te g € 9 gat &

E. % Ty ofit e offt STeiizr @t @7 S | Uer Siufiag / g Rt g

Question Number : 33
Correct: 2 Wrong: 1

Who i1ssues Ordinances?
Options:

A B oupreme Court
B. * Prime Minister
C. ¥ President

D. % Chief Minister.
E. # Parliament

Question Number : 33
Correct: 2 Wrong: 1

STEITEST I AT T 27
Options:

A ® gl e

B. ® memT wET

c. ¥ e

D. % ge et

E * gag

Question Number : 34
Correct: 2 Wrong: 1

Where can a citizen go directly if their fundamental rights are hanmed?
Options:

A B IMyaya Panchayat

B *® High Court

C. ® District Court

D. ¥ supreme Court

E. * Prime Minister.

Question Number : 34
Correct: 2 Wrong: 1

i Tt ATTTTvey o HiTerer ST D1 g+ a7 a1 a5 |iel Tenefch Urey =17 Fepa T &7
Options:

A ® SR UETEE

B. ¥ I e

C. ¥ TR e

D. ¥ wetg e



E * e adt

Question Number : 35
Correct: 2 Wrong: 1

What causes the Aurora Australis?

Options:

A B opinning of the earth at about 28 lans per howr

B. ¥ Tilt of the earth towards the sun during the southern hemisphere winter
C. * Increase in the carbon dioxide levels in the Polar regions

D. ¥ Interaction of density of the solar wind and the Earth's magnetic field
E. # MNone of these

Question Number : 35
Correct: 2 Wrong: 1

TN AATEgTIore @7 HTee 4T 57

Options:

A % 03 TpeiieT U GUET 6T TR & QT T ST H O AT
B. * gt ieeg afeit o ST Qe o7 e T 9 e

C. ® Ry ugaT ¥ S STaIEs TN @ a9g AT

D. ¥ €T ug=t & Oea ofit YT & e 4 ST o T

E ® g0 @ &7% 6

Question Number : 36

Correct: 2 Wrong: 1

What 15 a law called while it 15 being made in the Legislature?
Options:

A B Policy

B. ¥ Bill

C. % White Paper
D. # Blue Print

E. ® Resolution

Question Number : 36
Correct: 2 Wrong: 1

T I BT T Fgd & A dg TeeTaaT § @ T e 87
Options:

A ® S

B. ¥ Tade

Cc ¥ sdgux

D. ¥ ey

E. ® QAT / weaT

Question Number : 37

Correct: 2 Wrong: 1

In which Himlayan region are the peales of Chauldhamba , Hardeol and Trislnl peales located 7
Options:

A * Karakoram Fange

B. ¥ Ladakh Himalaya



¢. ¥ Kumaon & Garlwal Himalaya
D. * Kashmir Himalaya

E * Zanslar

Question Number : 37
Correct: 2 Wrong: 1

T, EXaaTTe AR TS veld o =iifeat fEmmer & v & o e 27
Options:

A ® FHHRA SGAT

B. ¥ g B

C. ¥ FUTE & TEa TEHTAT

D. ¥ wadiv e

E # v

Question Number : 38
Correct: 2 Wrong: 1

Which three passes are open for trade with China 7
Options:

A % Se, Jalep La and Changla

B. ¥ Nathula Changla and Jalep La

C. * Sela, Changla and Delbsa

D. ¥ Nathula, Sluplala and Lipuleld

E ® Jalep La, Shipldla and Changla

Question Number : 38
Correct: 2 Wrong: 1

I T AT/ U 2 & T s @ W et 27
Options:

A % TR, ST AT, ST ST

B. % STRAT, STAT 3T SR AT

C. % T e oY TeE

D. ¥ =vsge, Tamfee sie Figira

E % Som @, fanfee ofT s

Question Number : 39
Correct: 2 Wrong: 1

Which four States pooled in resources to build the Konlsan Rail Foute?
Options:

A ® Maharastra, Kerala, Gujrat and Goa

B. # Kerala, Goa, Gurat and Kamnatalsa

C. ® Maharahtra , Karnatale, Goa and Daman and Diu.

D. ¥ Kerala, Kamataka, Goa and Maharashtra
E. * Kamataka, Maharashtra , Tamilnadu, Goa

Question Number : 39
Correct: 2 Wrong: 1
TRIHOT I /T & o o0 @19 & O T=! = U &1 o GaTed 9217 a7

Options:



A % mETOE, WA, TR S T

B. ® e, TN, ORI AR ded

C. ® mgwrE, wdfew, e ot gAT 9 g
D. ¥ T, Tied, T 3T FENTE
B+ i AT, s e

Question Number : 40

Correct: 2 Wrong: 1

Which of the plateaus of today 15 lmown as Gondwana?
Options:

A % Tibet Plateau

B. ¥ Peninsular plateau of India

C. % Deccan Plateau

D. * Arabian Plateau,

E. * MNone of these

Question Number : 40
Correct: 2 Wrong: 1

PI-HT USTC 3 ST & A0 & ST 747 57
Options:

A R Tead dTUs

B. ¥ WT T ST 8T

C ® Tgduer

D. ¥ 3R Uew

E ¥ g0 9§ 75!

Question Number : 41

Correct: 2 Wrong: 1

What 15 the special feature of the western coastal plain of India?
Options:

A ¥ Wide continental shelf, mudflats and coral reefs

B. # Deltas, narrow continental shelf, mangroves

C. ¥ Baclewaters, Narrow continental shelf and coral reefs

D. ¥ Shallow continental shelf, mud flats, and coral reefs
E. ¥ Deltas, deep continental shelf and baclowaters.

Question Number : 41
Correct: 2 Wrong: 1

WA & TPeHT T2 127 A= il @ T SwaT & &7

Options:

A V' E OETENTRT S, HETeE o TerTe Tkt

B. % 2T, | wRTSITE Seh, Hute

C. % SWETEr O/ AT, HHI AFTEI Seth o wane Rt
E. # Zrar, MEt ARSI Seth 31T SIMaTg! Ot / Seeey.

Question Number : 42



Correct: 2 Wrong: 1

Which crop has increased in demand in India as it has contributed to the mining of shale gas in the TISA 7
Options:

A % Tute

B. ¥ Guar Phall

c * Jatropha

D. # Com

E % Soyabean

Question Number : 42
Correct: 2 Wrong: 1

WA H, Tohel Tefel &1 7T H Jieg g2 & F11h S8 G T2 STHICRT # e 716 o1 Feel H T foem g7
Options:

A %oz

B. ¥ ToC Wenil

C. ® ST

D. * mag

E ® wmd

Question Number : 43
Correct: 2 Wrong: 1

What is the comumonly lenown name for the 21 islands between Rameshwaram and Tuticorin which is the worlds finest Marine
Biosphere reserve.

Options:

A * Havelock island
B. # Palk Strait

C. * Indira Point

D. ¥ Gulf of Mannar
E. ® Gulf of Katchch

Question Number : 43
Correct: 2 Wrong: 1

TTHPETCH 31T T 1T & after 21 &0 Tore arfel =1 & <1 A 8, S 1o g o7 sgade agar et e o 21

Options:

A ® Bl AEHE

B. ® Ul SoSHEwE [ U e
c. ® i

D. ¥ W) & T

E % oeg o @nst

Question Number : 44
Correct: 2 Wrong: 1

In which State is the Sanchi Stupa located?
Options:

A % Bihar

B. ® Uttar Pradesh

C. ® Jharkhand

D. * Qdisha



E ¢ Madlyya Pradesh

Question Number : 44
Correct: 2 Wrong: 1

Terer T | | O e 27
Options:

A ® TER

B. ® FEvuda

C *® g

D. ¥ afifzar

E ¢ megudy

Question Number : 45
Correct: 2 Wrong: 1

Which ruler founded the capital at Patliputra?
Options:

A #® Ashole

B ¥ Ajatashatiu

C. * Chandra gupta

D. * Chandra gupta Vilcramnaditya

E ® Eautilya

Question Number : 45
Correct: 2 Wrong: 1

e AITHER o UTE T H T el S0 i
Options:

A % grei

B. ¥ aemaayg

C. % Tz

D # =gim e

E % gifteg

Question Number : 46
Correct: 2 Wrong: 1

Which Fuler made a replica of the Taj IMahal m South India?
Options:

A % Shah Jehan

B ¢ Aurangzeb

c ® Jahangir

D. ¥ Farnulh Sivar

E. # Jalandar Shah

Question Number : 46
Correct: 2 Wrong: 1

TTET YR H o ST = T Ae ol @ Widgd e 417
Options:

A ® grEeET

B. ¥ sfeE



C. ® SEi
D. % EJM@i%“E
E ® SIS g

Question Number : 47
Correct: 2 Wrong: 1

Which Indian - Paldstani author 15 famous for books like Toba Tele Singh, Thanda Ghost?
Options:

A *® Faiz Ahmed Faiz

B. ¥ Saadat Hasan Manto

C. ® Raza Rumi

D % Jas Fiza

E. * None of these

Question Number : 47
Correct: 2 Wrong: 1

I & A - UTREq =1 oiaer q el der Teig, ST T9q S feReTd qeaat o oy Agt 87
Options:

A % T aEAT

B. ¥ OEd gad 0e

C. ¥ wArEdt

D. ¥ =g fowr

E ® s & o a5l

Question Number : 48
Correct: 2 Wrong: 1

Who was the first woman ruler in the 13th century i India 7
Options:

A * Rani Gowri Payi

B. ¥ Chand Bibi

C. # Nehr Un Nissa

D. # Jahanara

E. ¥ Razia Sultan

Question Number : 48
Correct: 2 Wrong: 1

13 off 95T | W §T Tgell ATEeT T8 e 217
Options:

A R gt e e

B. ® =7 et

Cc. ¥ At e Fem

D. % FgTamT

E ¥ (S gea

Question Number : 49

Correct: 2 Wrong: 1

What was the call given in 1929 at Lahore by Jawaharlal Nehru?
Options:



A % DoorDie
B. % matyameva Jayate
c. ¥ Puma SWara]

D * Inguilab Zindabad

E ® owara] 15 my birthright.

Question Number : 49
Correct: 2 Wrong: 1

1020 H AR § FaTgt oTel "5® BT 160 T AT =7 417
Options:

A % HErOTEE

B. ® geodg oo

c. ¥ oof T

D. ¥ go FamEmg

E ® Tor BT SvATeg ST 8]

Question Number : 50
Correct: 2 Wrong: 1

What was the all woman arny led by Captain Lalkshumi Sahgal called?
Options:

A * Chand Bibi Core

B. ¥ Rani Jhansi Fegunent

C. ® Free India Legion

D. * Indian Territorial Army

E. * Women SIipers core.

Question Number : 50

Correct: 2 Wrong: 1

e FEHT HET o Aed B ATaT3ll ol &1 H T47 Bl a7 417
Options:

A g BT

B. ¥ T ST (e

C ® g% aRT

D. % Sqretar v e

E % Afar @Y wie

General EnowledgeBased on Chhattisgarl)
Number of Questions: 50

Question Number : 51
Correct: 2 Wrong: 1



The following lealehurn kings muled Chhattisgarh from the capital 'Tununan’
1. Kalingra) 2. Eanalrg

3. Ratnaraj 4. Pratapimlla
Options:

A Y land?

B. ¥ 2and3

C * land3

D. * 2and4

E # 3and4

Question Number : 51
Correct: 2 Wrong: 1

TIHTOT T & THHio e Sere]ie STEe! = Seiemg ot e -
1. HIGTT 2. e
3. TEO 4. UATOHA

o e

Options:
AVYlTg:?

B. % 207a3

c. ® 103

D. % 27a4

E % 30a4
Question Number : 52

Correct: 2 Wrong: 1
Datch list 1{Superintendents posted in Chhattisgarh during the person of British protedorate 1818 to 1830 ) with List 2 ( Events)

List 1 List 2

(a) Capt Edmond 1. Transfer of capital to Raipur

(b)) Wlajor Agneu 2. Transfer of power to Bhonslas

(c) Capt. sandis 3. Fevolt of the zamindar of Dongargarh
(d) Cap craufurd 4. Agresment biw bastar and lkaronde states
Options:

A ® (a)-1,0b)- 20c)- 3.(d)- 4

B. ® (a)-2,(h)- 4,(c)- 1,(d)- 3
(ol (a)-3.(b)- 1ic)-4,id)- 2
D. # (a)-4,(0)- 3,(c)- 2(d)- 1
E % (a)-4,(h)- 2,(c)- 1,(d)- 3

Question Number : 52



Correct: 2 Wrong: 1
Tt | (Teifesr evemmenTar 1818 & 1830 | geitang H UZee Sreiiery ) @ geit 2 (°eAT ) € gafed sife-

Leln! 2

3) e UEAS 1. TE | T S i
DR 2. AT @ EAT gATaer

c) Tted disd 3. SIS & FHIGT @7 el

d) e FIHE 4. FEAT AT TS =l H FASHAT
Options:

A (2)-100)- 2(c)- 3.0d)- 4
B. ® (a)-2,0b)- 4.(c)- 10d)- 3
C. ¥ (@)-3.(0)- 1.(c)- 4.0d)- 2
D. # (a)-4,(h)- 3,(c)- 20d)- 1
E # (a)-4.(0)- 2.(c)- L.(d)- 3

ity

Question Number : 53
Correct: 2 Wrong: 1

The following districts were intially mduded in the Chhattisgarh Division under British administration-
1. Raipur 2. Bilaspur

3. Durg 4. Sambalpur

Select the correct answer-

Options:
A %
B. % 2 3and4
C.¥ 1, 2and4
D. % 1, 3and4

E # {and?

. 2and 3

Question Number : 53
Correct: 2 Wrong: 1

e ST WaTeT & ST porans TN H U § AT el g a-
1. T 2. e

3. g 4. Herelgy

R T I e -

Options:

A% 2mE3

B. ® 1, 3174

c. ¥ 1 2ud4

D. %1 304

E # 1ma2

Question Number : 54

Correct: 2 Wrong: 1

Which of the following pair (Leader of the Eevolt of 1857 in Chhattisgarh and his area ) is not correctly matched?
Options:

i

A B Marayan singh - Sonaldian



B *® Kalyan Singh - Udaipur
C. ® Surendra Sai - marbalpur
D. ¥ Balram singh - Bastar

E. * Hanuman oingh - Raipur

Question Number : 54
Correct: 2 Wrong: 1

TTTaT # & T o SST( garaTg & 1857 & Taver @7 AT Ue I6T 49 ) gEeE T8 8 7
Options:

A ® g @ - g

B. % @wamr €E - IR0

C. * g 9 - G

D. ¥ oW T8E - Feav

E. * g3am g - Tqe

Question Number : 55
Correct: 2 Wrong: 1

The following were the leaders of the swaraj party established in 1923

1. Waman Rao Lakhe

L-2

. Pt. Ravishanlear Shulda
3. Madhav Rao sapre
4 E. Raghavendra Rao

Select the correct answer
Options:

A% land?

B.*® 2and3
C. *® 3and4
D *® land3

E ¥ Jand4

Question Number : 55
Correct: 2 Wrong: 1

1023 & TN S/ 2ot o geiteTs § Taieriad 4T & -
| STHACE AT 2. T Tt e

3. ATelERTd 90 4. o TTHe=g g

el I g

Options:

A% T2
B. * 20a3
C ® 3ua4
D. * 1ud3
E ¥ 10d4



Question Number : 56

Correct: 2 Wrong: 1

Which of the following statement is not true about the merger of teudatory states of Chhattisgarh in Indian union 7
Options:

A % The process of merger was completed on 1st January 1943

B. * Pt Ravishanlar Shulda's contribution was significant

C. % The Merger toole place under the puidance of Sardar Patel.

D. * Rulers of all states signed the merger docwmnents.

E. ¥ Bastar state was not included in this IETEEr.

Question Number : 56
Correct: 2 Wrong: 1

TG &1 T NATEAT & R (3 99 § Siderae o gae § Faieias § & & 9] 9= 907 761 8 7
Options:

A % Hfaeae &7 ufmar | e 1048 7 qf g

B. ® wfeeRe 0 T o @7 Hgeayul Jime o

C. ® Gfeee @Er ued & ATig s # |ug gar

D. * ot framgat & amaent # Giemed o & geare T

E. ¥ geqe framad @ o giderad 5 aniier a8t e mar

Question Number : 57
Correct: 2 Wrong: 1

Boundaries of district of Chhattisgarh touches the states, match it.

District States
(1) Jashpur (a) Maharastra
(i) Balrampur (1) Andhra Pradesh
(1if) Flanlcer () Madlyya Pradesh
(1) Sulona (d) Odisha
(v) Bilaspur (&) Jharlkhand
Options:

A B a-(i), b-(1v),c-(il), d-{v), e-(i)
B *® a-(iv), b-{1),c-{1i), d-(v), e-[ii)
c ® a-(1), b-(v),c-(ui), d-(i), e-(iv)
D. ¥ a-(iit), b-{1v),c-{v), d-(1), e-(i)

E % a-(v), b-(1v),c-(i), d-(i1), e-(1)

Question Number : 57
Correct: 2 Wrong: 1



FRTETTg o oot ST o Tt & Tt g guiee e -

EEI =

(i) STEIE - (a) HEWTE
(if) SFETHY - (b) ST
(i) T - (c) FeaTa
(iv) AT - (d) sfiEem
(v) TelrTey - (e) SETE
Options:

A B a-(it), b-{1v),c-(iil), d-(v), e-(i)
B. % a-(1v), b-(1,c-(i), d-(v), e-(i)
c * a-(1), b-(v),c-{ui), d-(i), e-(1v)
D v a-(it), b-{1v),c-{v), d-(1), e-(i1)

E ® a-(v), b-(1v),c-(i), d-(i1), e-(1)

Question Number : 58
Correct: 2 Wrong: 1

Urban local self Government mstitution's election is conducted by
Options:

A * Flection Commission

B. ¥ State Election Commission

C. ® Local self Government commission

D. * Urban Dievelopment conumission

E. #* State Government

Question Number : 58
Correct: 2 Wrong: 1

AT T EATE THepTal i [T deeamal & -
Options:

A ® Tl s

B. ¥ e Toraier s

C. ¥ i eaemEe AT

D. ® e fawm smerm

E #® T amad

Question Number : 59

Correct: 2 Wrong: 1

What was the date of Round Table conference concerning Paclyyat held at Raipur-
Options:

A % May 2008

B. ¥ April 2009

C. % March 2010

D. * Sept. 2006

E. ¥ June 2004



Question Number : 59
Correct: 2 Wrong: 1
TIT H T | & HIaTerd TiefH=T SHe @i Td e &= gt -

Options:

A % gEonos

B. % arfer 2000
c. * #rf 2010
D. % Taren 2006
E ¥ 372004

Question Number : 60

Correct: 2 Wrong: 1

Which of the following city is not a district in Chhattisgarh-
Options:

I

A B Marayanpur
B *® Balrampur
C. * Korba

D. ¥ Konta

E % Surajpur

Question Number : 60
Correct: 2 Wrong: 1

TRTeIET § € 6 |7 S5 gnans # Ow e A5 E -
Options:

A ® EETT
B. % SerHIY
C. ® Fiar
D. ¥ i

E ¥ gy

Question Number : 61
Correct: 2 Wrong: 1

What 15 the prowisions of reservation to other Bacloward classes in those Janpad Panchayats where the population of scheduled
caste and scheduted Trnidbes is half or less than of the total-

Options:
A % ap%

33%

Question Number : 61

Correct: 2 Wrong: 1

oI S0, T T H SR AT o S ST 1 gl ST ATer 3T AT € WH g gl 3 Uee a1l @ joid Tha - id e
TG T W &-

Options:

A % 40



Question Number : 62
Correct: 2 Wrong: 1

Which 15 the stipulated period is which no confidence motion can not be introduced against sarpanch / Deputy Sarpanch in
Chhattisgarh

Options:

A B Up to 6 months

B ¥ Up to 1 year

c ® Upto 2 Vears

D. *® Up to 20172 Jyears
E ® Upto 1 {1/2) years

Question Number : 62
Correct: 2 Wrong: 1

FOETTE H OO [ 30 T o Teiteg , TI& @ Tehd T STaTer a9 SITcPalTe WedTd el o7 AT HedT -
Options:

A % AT FT sEty T

B. ¥ | af &7 st 9@

C. % 2o & st T

D. ® 2(1/2) af &7 s T@

E % 1(1/2) o &t sE 9@

Question Number : 63

Correct: 2 Wrong: 1

Mot Included in Ganga drainage system is -
Options:

A ® Koriya

B *® Surajpur

c *® Balratnpur
D. ¥ Korba-Koriya

E # surajpur- Balrampur

Question Number : 63

Correct: 2 Wrong: 1

T SMETE o A E e e e
Options:

A % i

B. ¥ gt

Question Number : 64
Correct: 2 Wrong: 1



Water - shed between Mahanadi and Indravati 1s -
Options:

A v Keshlal scape

B *® Kondagaon Plate

C. *® Abushmarh hills

D * Antagarh Upland

E # Bhanupratapur hulls

Question Number : 64
Correct: 2 Wrong: 1

AETal Ud Salad [ & Hed el [T &-
Options:

AV ST TR

B. ® wiETTd &1 Iar

C. * smEEmE @ g

D. % 3@TE g 9w

E * 9Tuam meriear

Question Number : 65

Correct: 2 Wrong: 1

In which tahsils of Chhattisgarh Matlal range is extended-
Options:

A ® Famandgaon, Khairagarh, Eawardha

B. * Fhairagarh, IMungeli, Fajnandgaon

C. ¥ Penra, Lormi, Khaira garh

D. * Kawardha, Lormi, Iungel

E % Wungeli, Ehairagarh, Kawardha.

Question Number : 65
Correct: 2 Wrong: 1

TGS @ TR TEeiel § Hepel 40T Teea T &-
Options:

A % [T TR ERTS, wert

B. ¥ &E , g TS T

C. ¥ TugT, ST, TS T

D. * eretf, /ICaT, g

E. % giet, &me, et

Question Number : 66

Correct: 2 Wrong: 1

Local names of the soils found in plateau of Bastar (series from high land to low land)
Options:

A ® Tilera, Mal, Marhan, Gabhar

B. # Mal, Marhan, Gabhar, Tilera

C. ® Cabhar, Tilera, Marhan, Mal

D. ¥ Marhan, Tikra, Mal , Gabhar

E. #* Tilra, Marhan, Gabhar, IMal



Question Number : 66
Correct: 2 Wrong: 1

TEAT & TS H TS AT arlelt TSt o Fritar =T 2 (35 i & Fom offfr o oo )
Options:

A % TrET WIS, AR, AR

B. * T, WE, TR

¢ ® AR T, AR, AT

D. ¥ wgEE, e, A1 TR

E ® T, e, TR A

Question Number : 67
Correct: 2 Wrong: 1

According ot 2009 in the view of reserve in diamond the contribution of Chhattisgarh to country 15 -
Options:

A Approzimate 28 %

B *

2708

Approzimate 32 %
C % ! - T2 08

. Approzumate 25 %
D * Approzimate 19 %

E % Approzimate 35 %

Question Number : 67
Correct: 2 Wrong: 1

2009 & SHR ERT & WIS DI S8 | 340 H OxienTs &7 AMEH &-
Options:

A ¥ ST 8%

B. ® T 32%

C. ¥ FTT 23%

D. % T 19%

E. % & 39%

Question Number : 68
Correct: 2 Wrong: 1

Iatch List 1 (MWinerals) with List 2 [ Eeserve area)

List 1 List 2

(a) Iron-ore 1. Paylilhand
(L) Bauzite 2. Chargaon

() Diamond 3. Chitalnar

(d) Tin 4. Phutleapahad

welect the correct answer-
Options:

A ¥ a0 b4c-1,d-3

B. % a-2, b-1,c-4.d-3

C. * a3, b4,c-2.0-1



D % a4 b-3c-1,d-2
E * a1, b-4,c-2.d-3

Question Number : 68
Correct: 2 Wrong: 1

T 1 (@)1 g 2 (Ve ) & gafed FiSd
T 1 T 2

(a) Mg 3TEw 1. UReEs

(b ) TEFEES 2. IR

(c)ERT 3. RiaeR

(d)y e 4. JTATOETS

el I G

Options:

A ¥ 3 2b-4.c-1,0-3
B. # a-2b-1,c-4,d-3
C. *® a3b-4.c-2.d1
D. % a-4b-3.c-1,d-2
E # alb-4.c-2.d3

Question Number : 69
Correct: 2 Wrong: 1

Which of the following place 15 located on the banles- of river Shivnath-
Options:

M

A #® Kharaud

B. * Turturiya
c * Drevpahari
D. ¥ Ma dlaudwip
E * Arang

Question Number : 69
Correct: 2 Wrong: 1

TETEET # B |7 T T8 A5T & q0 0 T 8-
Options:

A ¥ g

B, ® qeamar

C. ® Famgd

D ¥ Hag &

E # am

Question Number : 70
Correct: 2 Wrong: 1

Up to march 2013 Government of Chhattisgarh has received revenue from "VAT' is
Options:

A ® RS 5072.76 crores



B. ¥ RS. 6072.76 crores
C. ® RS. 7072.76 crores
D. ® RS. 8072.76 crores
E. # RS. 9072.76 crores.

Question Number : 70
Correct: 2 Wrong: 1

TG G &1 A= 2013 99 2T ' & UTH §1 aTalT Taed &-
Options:

A ® 507276 wils w U

B. ¥ 607276 Tils &0

C. ¥ 7072.76 Tels &0

D. ¥ 3072.76 Tiis &0

E. #® 007276 oS &0

Question Number : 71
Correct: 2 Wrong: 1

As on Jammary 2014 which district of Chhattisgarh states has the lowest number of fair price shops-
Options:

A * Dantewada

B. ¥ Marayanpur

c ® Byapur

D. ¥ Kanleer

E % Bastar

Question Number : 71
Correct: 2 Wrong: 1

el 2014 T T H oeiiens =4 & Tend el § I grd &1 Hedl oF g &-
Options:

A % FgEmET

B. ¥ TR

c. ® o

D. ® @y

E # @&t

Question Number : 72

Correct: 2 Wrong: 1

What was the total production of soyabeen in Chhattisgarh in 2012-13.
Options:

A ® 18065 Thousand M.T

B. ¥ 18035 Thousand M. T

C. % 101 80 Thousand M.T

D. % 103,67 Thousand M. T

E. * 10556 Thousand M.T

Question Number : 72
Correct: 2 Wrong: 1

a9 2012 -2013 H girarg d HITe 7 ol JeaigT fehd -7 &7 -



Options:

A ® 130655 H 0 79
B. ¥ 180.35 g HY 0 &
C. ¥ 101 80 g AT 0 7
D. ¥ 103.67 g AT 0 7
E % 10556 g HY 0 7

Question Number : 73

Correct: 2 Wrong: 1

Chief minister food Grain Assistance scheme in Chhattisgarh was launched on
Options:

A % 1 April 2003

B. % | April 2004

C. ¥ 1| April 2005

D. * 1 April 2006

E ¥ | April 2007

Question Number : 73
Correct: 2 Wrong: 1

FHETG H HEAHAT G2 HE T2 AT T W B+ @7 e a7 -
Options:

A % 1 37 2003

B. ¥ | afifer 2004

c. ® 1 32005

D. * 1 3 2006

E ¥ 1 afier 2007

Question Number : 74
Correct: 2 Wrong: 1

Which district of Chhattisgarh state has more netsown Area.
Options:

A ® Bil spur

B. % amigir- champa

c Fajnandgaon

D. ® Bemetara

E. * Paloda bazar

Question Number : 74
Correct: 2 Wrong: 1

T eSO o Tore Toret 7 e T ér arfer
Options:

A % TEmaqy

B. ¥ Srarite-zm

C. ¥ T T

D. ® AT

E *® gdiaram=n



Question Number : 75

Correct: 2 Wrong: 1

Which district in the following has more paddy area in 2011-12
Options:

AV Janjgir- champa

B. # Fajnandgaon
C. ® Mahasamund
D. #* Baloda Pazar

E ® Faipur

Question Number : 75
Correct: 2 Wrong: 1

oo e et & 2011 -12 # o @7 S S1few 2
Options:

AV TR =T

B. ® T T

C ¥ weremsE

D. % Fefiar 9N

E * e

Question Number : 76
Correct: 2 Wrong: 1

Bhairamgarh Widllife sanctuary formed in
Options:

A ¥ 1033

B. % 1003

C. % 1087

D % 1007

E % 2001

Question Number : 76
Correct: 2 Wrong: 1

HTATG ST el elH=T
Options:

A ¥ 1033

B. % 1003

C % 1087

D % 1007

E * 2001

Question Number : 77
Correct: 2 Wrong: 1

Chedru famous as tiger kid of madia tribe belongs to which district-
Options:

A Marayanpur

B *® Bijapur

C. ® Bastar

D * Eondagaon



E. * Dantewada

Question Number : 77
Correct: 2 Wrong: 1

TETN TFE o €0 § o ATiSaT AT & cige T foiel & Heted &
Options:

A Y IRETT

B ® oy

C *® e

D. ¥ wiv=me

E ® Zdaret

Question Number : 78
Correct: 2 Wrong: 1
Guravat is -

Options:

A ® Gandharav Marriage
B. # Seva Marriage

C. ¥ Obstinate Ilarriage
D. ¥ Barter IMarriage

E. * Purchase Ilarriage

Question Number : 78
Correct: 2 Wrong: 1

TRAT & -

Options:

A md Tag
B. ¥ @ar faamg

c ¥ g faamg

D. ¥ Tfm B
E % oy e

Question Number : 79
Correct: 2 Wrong: 1

Gendi dance 15 prevalent in which tribes
Options:

A % Nudia

B. % Abujlunadia

C. * Korlu

D. ¥ Muria

E ® Bimyhwrar

Question Number : 79
Correct: 2 Wrong: 1
TNET o T Wl Toel F=a1Td H -

Options:
A % giEam
B. ¥ srggmiET




C *® @Ry
D. ¥ gitm
E * femm

Question Number : 80
Correct: 2 Wrong: 1

In the following tribes the most Godna loving tribe is
Options:
A * Kamar

B. ¥ Bhatra

C. % Nuria
D. ¥ Baiga
E. ® Uraon

Question Number : 80
Correct: 2 Wrong: 1

TR ATt # & S77ere a7 0 J=d &
Options:
A % TR

B. ® s1aer
c. # g
D. ¥ g
E ® J@

Question Number : 81
Correct: 2 Wrong: 1

Damnach dance is famous in wlich tribe
Options:

A # Paiga

B. ¥ Pahadi Korwa

C. * Madia

D. * Muria

E. * Dori

Question Number : 81
Correct: 2 Wrong: 1

THAS T T AT H 0T &
Options:

A % g

B. ¥ UgTET FRar

c. % [z

D % gieam

E * g

Question Number : 82

Correct: 2 Wrong: 1

"Maular Id leameez"” is authored by whom-
Options:



A % Vimal Mitra

B. * Hari Thakur

C. ¥ Amrita Pritam

D. ¥ Vinod lumar shulda
E. % Nulutdhar pandey

Question Number : 82
Correct: 2 Wrong: 1

Options:
A ® e i

Question Number : 83
Correct: 2 Wrong: 1

Telasibada is associated with which from the below-
Options:

A B Agherpanth

B. # Kabir panth

c ® Pushtimarg

D. ¥ Satnampanth

E. * Tera Panth

Question Number : 83

Correct: 2 Wrong: 1
FereitaTST o 7 @ e e 2
Options:

A IR

B. % apefieoer

c % genmt

D. ¥ T

E % T

Question Number : 84
Correct: 2 Wrong: 1

sadashiv Govind Katre 15 related to which field of worke -
Options:

A % Crafi

B. ®¥ Tourism

c Laprosy Exadication

D. ¥ Social Upliftment

E. # Trade Union

Question Number : 84



Correct: 2 Wrong: 1
I MiTelvg, @l The S8 | JFared &

Options:

A ® T3 Fer

B. ® mfa

C. ¥ g S

D. * g Joa
E ¥ mograd

Question Number : 85
Correct: 2 Wrong: 1

Match the following

Follc Dance Tribes

(1) Hulla (a) Madia

(1) Karsad () Muria

(1) Sarbul (c) Abwhmadia
() Gour () Urano
Options:

AV a-(1), b-(ut) c-(m),d- (1)
B *® a-(if), b-{1v) c-(1),d- (i)
c * a-(iv), b-(1) c-(i),d- (i)
D *® a-(iit), b-{i) c-{1v),d- (1)
E ¥

a-(iv), b-{id) c-(1),d- (i)

Question Number : 85
Correct: 2 Wrong: 1

TRmTET @ gHieT ST
e EEEITE

(i) gerhT (a) Wil

(ii ) PIETS (b) gl

(il ) |Ee (c) SreEmTZaT
(iv ) T (d) 3T
Options:

AV (a-(1), b-(il) c-(iv),d- (1)
B. * a-(iif), b-{1v) c-(1),d- (i)
c * a-(iv), b-{1) c-(i),d- (i)
D ® a-(it), b-{i) c-{1v),d- (1)

E * a-(1v), b-(ut) c-(1),d- (i)



Question Number : 86
Correct: 2 Wrong: 1

Think over following statement with reference to 'Ghotul’.
1 Provide social Education

2. Assistance to choose life partner

3. Awalen selfless services

select the correct answer-

Options:

A ® 1 & 2 are correct
B. ¥ 1.2 & 3 are correct
C. % 2 & 3are correct
D. #¥ 1 & 3 are correct

E % Only 2 15 correct

Question Number : 86
Correct: 2 Wrong: 1

Higet & "gw # T35 Fert o o Fifn
1. FTAT TeT 3T

2. Sifer |t @ SHTe # "ETw

3. T A AT HAT

TR o T AT I

Options:

A% | avoagrd
B.Y 1, 2sR3TEE
c. ¥ 2afiw3agre
D % 1afv3agre
E ® Saw 2 o8l g

Question Number : 87
Correct: 2 Wrong: 1

What was total mstalled capacity of power generation as on 31 December 2013 m Chhattisgarh.
Options:

& ¥ 6365 MW

B. ¥ 2875 MW

C. % 24510 MW

D. % 3000 MW

E % 4275 MW

Question Number : 87
Correct: 2 Wrong: 1

Tt | AT 31 Toerat 2013 @ Tere[d Ieama o 0 gt fha-t of
Options:

A ¥ 6365 TTITETE

B. ¥ 2875 ®MTETT

C. ® 2452 AETE

D. ® 3000 AT

E #® 4275 AETe

Question Number : 88



Correct: 2 Wrong: 1

In which place Hydro Power house is located.
Options:

A ® Barsur

B. # Kawardha

C. % Rudd

D ¥ Gangrel

E % Seepat

Question Number : 88
Correct: 2 Wrong: 1

T & T T U ST g T &

Options:

A % gy
B. ¥ heref
c. ® w1
D. ¥ M e
E #® i

Question Number : 89
Correct: 2 Wrong: 1

At the end of financial year 2012-13 mumber of electrified willages is Chhattisgarh was
Options:

A % 13031

B. ¥ 18035

c. ¥ 13038

D. ¥ 13040

E. % 18010

Question Number : 89
Correct: 2 Wrong: 1

gt | fee e 2012 -13 & ard & Felie # et Terefe g TTAT T e ot
Options:

A % 18031

B. ¥ 18035

c. ¥ 13033

D. ¥ 13040

E % 13010

Question Number : 90

Correct: 2 Wrong: 1

The Angadev 15 made of which in Bastar-
Options:

® 5

& tone

B. % Netal
C. ¥ Clay
D v d Wood



E * Sand

Question Number : 90
Correct: 2 Wrong: 1

TEAC H AT T AT e T ST 8
Options:

A ¥ oo

B % ey

c. ®

D. ¥ @

E ® 3T

Question Number : 91
Correct: 2 Wrong: 1

What was the total munber of census houses in Chhattisgarh as per census 2011
Options:

A % 55 Lakh

B. ® 61 Lakh

C. ¥ 66 Lakh

D. % 40 Lakh

E. % 58 Lakh

Question Number : 91
Correct: 2 Wrong: 1

STRITOTAT 2011 o STE G ieT% H SATI0AT HeRTAT hl Tl T Teha AT 47
Options:

A % s5qmE

B. ¥ 61 ol

c. ¥ 66 o

D. % 40 w1

E # 53709

Question Number : 92

Correct: 2 Wrong: 1

What 15 the approzimate percentage of fanulies possessing Television sets is Chhattisgarh as per Census 2011
Options:

no B o2

. ]
B. ¥ 31%

C. ® 25

D. ¥ 42%
E % 61%

Question Number : 92
Correct: 2 Wrong: 1

ST 2011 o STTER G ETG o oI Tehe - OTd 3 TR & OTe fotliae €2 &
Options:
n, % 379

i

B. ¥ 31%



C # noog

A |
D % 4%
E * 61%

Question Number : 93

Correct: 2 Wrong: 1

As per Census 2011, which district of Chhattisgarh has less lteracy rate in scheduled Tribes
Options:

A B Bijapur

B. ¥ Dantewada

c ® Marayanpur

D. * Bastar

E. * Kanker

Question Number : 93
Correct: 2 Wrong: 1

2011 T SATVET & SHR S0 aTTg o o oot | SIgEe =i -1 § H1ewdT 5 70 &
Options:

A % FEmE
B. ¥ ZedanaT
C. * JEET
D * geav

Question Number : 94

Correct: 2 Wrong: 1

Who 15 enshrined in sanchun m Lazmaneshwar temple Khared.
Options:

i

A * Hanuman

B. ¥ Ram- Sita

C. ¥ Shiv-Ling

D. * Shesh shayi Vishnou
E. #* Laxman

Question Number : 94
Correct: 2 Wrong: 1

WIS & AEHIPER HiSY o T | ToraedT v &

Options:

Question Number : 95
Correct: 2 Wrong: 1

Which ruler of south Kosal is related with Mala dynasty from the following,
Options:



M

A ® Teevardeva
B ¥ Villasttanga
C. ® Harsh Gupta
D. * Prasannamatra

E ® Utpal Dev

Question Number : 95
Correct: 2 Wrong: 1

ToH | I AT TR AT ThIeel o el & TFarerd &
Options:

A % e

B. ¥ e

c. % gimm

D. ® mga A

E ® geuera

Question Number : 96

Correct: 2 Wrong: 1

"Ancient Chandraditya Samudra named tanl is related to which place
Options:

A B Arang
B. % Mathar
c ® Bargaon
D. ¥ Barsur
E. % Adabhar.

Question Number : 96
Correct: 2 Wrong: 1
' U Tgfaed TG ATHS AiaT (e T & Graed &

Options:

A % g

B. ® Hegl0

c. ¥ g
D. ¥ argy
E ¥ =9

Question Number : 97
Correct: 2 Wrong: 1

Who is awarded "Dhanvantari Samuman’ i the year 2014 in Chhattisgarh.
Options:

A ® Dr Vishmu oingh Thaloor

B. ¥ Dr. Ramalant Shulda

C. ® Dr. Prashant Sharntara

D % Dr DK Mishra

E ¥ Dr. DE Tiwari

Question Number : 97



Correct: 2 Wrong: 1

TOMTE | & 2014 &7 eeara it e To Tz mam g
Options:

A ¥ = fom g o1

B. ¥ =T AT qae

C. ¥ =T usmea g

D. % =TEr% vy

E ¥ =Tl & e

Question Number : 98
Correct: 2 Wrong: 1

Which place from the following is not in the Rajin Panchkosi Foute-
Options:

A * Pateshwar

B. ¥ Kuleshwar

C. ¥ Bluteshwar

D * Eopeshwar

E % Fengeslrwar

Question Number : 98
Correct: 2 Wrong: 1

g o & @I o7 woe Ol e A g e -
Options:

A ® givg

B. * gelan

C. ¥ R

D. ¥ FFer

E ® o

Question Number : 99
Correct: 2 Wrong: 1

According to 2011 census which district has more sex ratio?
Options:

A * Kanker

B. ¥ Dantewada

c ® Jashpur

D * Dargya

E # Durg

Question Number : 99
Correct: 2 Wrong: 1

2011 T SATOMET & SR e et § AT e ¢
Options:

A % T

B. ¢ Tedan=T

c # Faqr

D. ® wwT



E ® g

Question Number : 100
Correct: 2 Wrong: 1

When Famlerishria mission wivelsanand Ashram in Raipur was established-
Options:

A % 1055

B. # 1056

C. * 1057

D. ¥ 1058

E % 1050

Question Number : 100
Correct: 2 Wrong: 1

T H THHT THI TelelenT=g, SIPH i S10T el g5
Options:

A #1055

B. # 1056

C. % 1057

D. ¥ 1058

E. % 1050

Aptitude Test
Number of Questions: 50

Question Number : 101
Correct: 2 Wrong: 1

Three jars &, B and C whose capacities are in the ratio of 1:2:3 are filled with nushures of alcohol and water. The ratios of alcohol
to water in A, B and C are 1.5, 3.5 and 57 respectively. The contents of these jars are emptied into a single vessel. The ratio of
water to alcohol in the misthure in the vessel 15

Options:

A %1323
B. ¥ 2313
C. % 1423
D. % 2314
E % 2312

Question Number : 101
Correct: 2 Wrong: 1

A A A, B 3T C T emied st # 1 20 3 &7 SMUT &, Sehigel HIC AT o [P0 & /¢ gU el A, B 31X C & Tepqort # sweiger
I U T ST BHaT 105, 305 35 0 7 B 5 AR o TR0 &l Ueh S aa A H STl 1o ST g ad o o 0T | 0T 8l
A Igel DT U &

Options:

A %1303

B ¥ 2313
Co® 1423



D * 1314

E # 2312

Question Number : 102
Correct: 2 Wrong: 1

The ratio of a two-digit numbers to the sum of its digits is 4:1. If the digit in ten's place is 3 less than the digit in one's place, then
the product of its digits is

Options:

A %02

B ¥ 13
o 27

D * 35
E # 72

Question Number : 102
Correct: 2 Wrong: 1

ST 3TEhT el e T T Ik 31! o T STguTa 4 ¢ 1 81 AT SRS T 3T ST o 37 © 3 W 3, 71 5Eeh Th1 BT 0-HA
Options:
no 17

i

B ¥ 13
oo® 27
D * 35
E # 72

Question Number : 103
Correct: 2 Wrong: 1

A person spends 80% of his income. With the increase in the cost of living, his expenditure increases by 37.5%, and his mcome
mcreases by x percent. If his new saving's is 5(5/7) %, then the value of z i3

Options:

A Y 16(23)
B. * 12623
CO® 0L
D. % 10(2/3)

E % 0(1/3)

Question Number : 103
Correct: 2 Wrong: 1

IS AT AT T &7 80% Gl THaT 81 Halis & A gheg o S0 I6e T A 37.5% @1 gleg TT JERT 3T H 2% T Iheg, 5N
T I =Tk &1 A5 =T 5(5/7) Y% &, T1 = & A &1

Options:

A Y 16(2/3)
B. * 1223)
SR 11O TE)
D. % 10(23)

E. * 001/3)

Question Number : 104
Correct: 2 Wrong: 1



P and ) are inversely proportional to each other and are posttive. I[f P increases by 100%, then Q decreases by
Options:

A % 200%

B. ¥ 180%

C. * 150%

D. * 100%

E ¥ 50%

Question Number : 104
Correct: 2 Wrong: 1

P 3T Q TTEWR e HIUTd | a9l eTcHe o) ATg P H 100% ST g gl T 5, a9 Q &I AT BT
Options:

A % 200%

B. * 1380%

C.o%® 150%

D. % 100%

E ¥ 50%

Question Number : 105
Correct: 2 Wrong: 1

A fast tramn talees 3 howurs less than a slow tram for a journey of 600 lan. If the speed of the slow train 15 10 lanthours less than
that of the fast train, the sum of speeds (in lan/'hour) of the two trains is

Options:

A % 80
B. ¥ 00
* 100
D. #* 110

E % 170

0

Question Number : 105
Correct: 2 Wrong: 1

T & STel elTel CorTrs T 600 TerrT & g 7 e H Ue &1 2] STl teTis T & 3 6 &H GAS wid 1 51 ie o Sel el met &l
A o el M= & a1 & 10 TErAieeT @ 5, a1 59 g1 et & et (TrdeeT) @ a8

Options:

A %30
B. ¥ 0Q
C. % 100
D. * 110
E.

170

Question Number : 106
Correct: 2 Wrong: 1

A person buys a table listed at s = and gets successive discounts of 10% and 20%. He spends 10% of the cost price on its
transport. It he sell it for Rs. 910.80 and earns a profit of 15%, the wvalue of = 15

Options:

A %1250
B. * 1200
C. % 1080



D. ¥ 1000
E % 030

Question Number : 106
Correct: 2 Wrong: 1

s et Uep U i, e g §rd Rs X &, @XEAT ¢ 3T 36 T il 10% 3flT 20% o o UTH @YaT ol o o Jed @7 10%,
THT GoITs UT Gel PaT ) TG, op 56 B @i Rs. 010 80 UT a1 & 3T 15% &1 o1 UTH @Xd T &, a7 X AT HH &

Options:
A % 1250

A
B. * 1200
C. % 1080
D. ¥ 1000
E. * 030

Question Number : 107
Correct: 2 Wrong: 1

The rate at which a river flows 15 one-third the speed of a boat i still water. [t the boat travels dowmn the river for 3 hours and then
bacle up niver for 3 hours, it will be 18 lan short of its starting point. The speed, in lovwhour, of the boat in still water 15

Options:
A% g
B. %0
Co® 12
D. % 15
E ¥ 138

Question Number : 107

Correct: 2 Wrong: 1

ST STl § T 41 & UelTg 1 =ATel, Teh ATel @1 =Tl @1 Ueh [dels g TG ag ATel o Hellg o SIehe 3 O dofd [ & X 7T ol o Welg
7 WRer 3 T S £, AT A S U g @ 18 Tt i g A 8 o A, 77w 7 =, e,

Options:

s

A
B. %0
Co® 12
D. % 15
E ¥ 138

Question Number : 108
Correct: 2 Wrong: 1

A talzes 6 days less than the time talten by B to finish a piece of work. Both A and B together can finish the worl in 4 days. The
ratio of one day's worlt of A and B is

Options:
AV 2
B. * 31
C. % 32
D * 12

E # 13

Question Number : 108
Correct: 2 Wrong: 1



TereT ST T U7 e W B AT HA w0 7, A T 3ET I i i H 6 T AT 71 A S B AT TR 36 I a4 T H
AT T e 51 A 31T B o e Uer TG # T T A T ST

Options:

AV 1

L
—

o2

!_F.J
L-3

D.
E

L-3
sl

Question Number : 109
Correct: 2 Wrong: 1

In what time will a tank be filled by three pipes whose diameters are 2em, 3cm and 4om, running together, when the pipe with
largest diameter could fill it in 58 minutes, the amount of water flowing in by sach pipe being proportional to the square of its
diatneter”?

Options:

A % 24 minutes
B. ¥ 27 minutes
C. % 20 minutes
D. ¥ 32 minutes

E % 36 minutes

Question Number : 109

Correct: 2 Wrong: 1

T | Te g2 EAL, 3 WAL ST 4 | Eame arel FF TSt g U Tl A A H 9 AT Sy Herd e STe elell qigy
39 58 THAET H |C Hep 1 &, 31T Wedleh GRT dgd U UTH1 &1 AT J6eh 19 o a1f & AT 51 7

Options:

A % 4 TEE
B. * 27 e
C. % 20 e
D. ¥ 32T
E % 36 e

Question Number : 110
Correct: 2 Wrong: 1

One hundred students of a class having two sections A and B toolk a test and their average score was 100, The number of students
of section A was 50% more than the number of the students of section B and the average score of the students of section B was
50% higher than that of students of section A The average score of section B was

Options:
A %105
B. * 115
C.o%* 120
D. ¥ 125
E. * 130

Question Number : 110

Correct: 2 Wrong: 1

TRt eyt o, Toreer of SeeT A ST B o1, 100 TeremefT Uar uxram ® & 3T I-eT 3ad wieme 100 an 86 A o et @ aEar B
o7 Tererert @ | ® 50% STere 97 ST O B o TeremiE=t o s uTHTer @7 st uTeTe, A o fereniEat o siee uTETe °
50% STTEeF <M See- B @7 ST T 9T

Options:




A %105
B. # 115
c. ® 120
D. ¥ 125
E %* 130

Question Number : 111
Correct: 2 Wrong: 1

Three different mumbers are selected at random from fist ten natural munbers. The probability that the product of two numbers 15
equal to the third is

Options:

Question Number : 111
Correct: 2 Wrong: 1

TEe! o WTgd aearalt # € F19 g 9y J1ex oo €0 € A1 a1 51 SEeh! ATaedT [0 o SETail o T0thel o 6] T &
T BT, FE &

Options:
A ® 1/2
B. ¥ 23
C. ¥ 1/40
D. % 1/3
E #* 1/60

Question Number : 112

Correct: 2 Wrong: 1

First four terms of an arithmetic progression are a,%,b and 2z respectively . The ratio of a to b is
Options:

Question Number : 112
Correct: 2 Wrong: 1

Terelt FATTT 5T o W = UG AT axb R 2 Bl a @ h H U &
Options:
A Y13
B. ¥ 12
c. ® 14

—_

D ¥
E ®

L-2

b



Question Number : 113
Correct: 2 Wrong: 1

The swm of the first three terins of a geometric progression (GP) 15 7 and the swmn of their squares 15 21, [f the comumon ratio is
less than 1, then the product of first five terms of the GP is

Options:

=
€
[

Question Number : 113

Correct: 2 Wrong: 1

TR TIOTIT ST o TIH o 1 US 1 @T T 7 g ST Ieeh et el T 21 81 IS ATel ST Ueh f B ELa1 56 Sl o WHH Uie ugf @
T &

Options:

AV

o w
: B
= =

=
b
e

Question Number : 114
Correct: 2 Wrong: 1

3 5 7
1 +—~F—=tator
The sum to mfinity of the series 2 2 2 15
Options:
R 4

=9

E %56

Question Number : 114
Correct: 2 Wrong: 1

F1- PR IEN.a
A5t - ol
Options:

.xH_}

S

¥ s wEt AT AT S

1
4=
2

B ®

LA



D_
D % 2

E ¥4

Question Number : 115
Correct: 2 Wrong: 1

If mPn = IDC? . (m=n) then (m-n) 15 equal to

Options:
AV

=
b
L3

Lid

=
4
Ln

Question Number : 115

Correct: 2 Wrong: 1

I “P, = "C,, (m>n), §, T (m-n) T &
Options:

AV

=
b
L3

i

=
b4
Ln

Question Number : 116
Correct: 2 Wrong: 1

If o and B are roots of x2 + px + g = 0 such that |a-B| = 1. then P2 is equal to
Options:

A %4y

B. % g+l

C. ® 4g-1

D. % g1

E ¥ 4g+1

Question Number : 116
Correct: 2 Wrong: 1

e x> +px+qg=0 %a'lﬁ-ru}ﬂ'{ B3H UhR & & a-p| =18, arP? s« &I
Options:
A %4y
B.Qqﬂ
C. ¥ 4g-1
D. % g1
E ¥ 4g+1

Question Number : 117



Correct: 2 Wrong: 1
If the roots of the equation x% — px + g = 0 are a and b, then which of the following equation has roots
(a4 b Hand(b+a1)7?
Options:

x2+(p+Dx+(g+>+2)=0
N q q

v 1 =

- x? —(p +E)x +(q +E+2)_ﬂ

X B 1 =
. (@+D+@+,+2)=0

Lo xf—(p +§)x +{q +%+2)={]

. xz—(q +§)x +(q +§+2)

Question Number : 117
Correct: 2 Wrong: 1

afg eI Xl —px +q =0 F A a XD § 79 FFT # & B weEor F 7T (a+ b 3R
(b+at)g?

Options:
K+ p+Hx+(g+i+2)=0
A 1 ?
B 1 =
- xg—(p +E)x+(q +E+2)_ﬂ

Zooe B d. =
- x (q+:}+@;+q+2} 0

L % xz—(p +§)x +{q +%+2)={]

P % xz—(q +§)x +{q +§+2)

Question Number : 118
Correct: 2 Wrong: 1
How many seven digit numbers can be formed with the digits 1,2,3,4,3,2,1 so0 that the odd digits always occupy the odd places?

Options:

Question Number : 118
Correct: 2 Wrong: 1

St 1,2,3,4,3,2,1 BT 01T &Y §U, 7 STl aATei! a1 STy TS ST Tehe | & d1ich TelaH 37 gl Te €t ue g1 gi?

Options:



D % 54
E % 72

Question Number : 119
Correct: 2 Wrong: 1

x?(a—b) + a?(b—x) + b? (x — a) is equal to
Options:

o« (@=b)x —a)(x+b)
p v (@—Db)(x—a)(x —b)
cx (b—a)(x+a)(x—D)
L« (@+b)(x —a)(x + D)
rx (@+b)(x—a)(x—D)

Question Number : 119
Correct: 2 Wrong: 1

x?(a—b)+ a?(b—x) + b* (x—a) W &
:ét:ns(:a. —b)(x —a)(x+ b)
p v (@—=Db)(x—a)(x—Db)
cx (b—a)(x+a)(x—D)
- (a+b)(x—a)(x+ D)

% (@a+b)(x—a)(x—b)

Question Number : 120
Correct: 2 Wrong: 1
A person on the top of a ciff observes a boat at an angle of depression of EDD which is approaching the shore to the point

wmmediately beneath the observes with a uniform speed. Twelve minutes later, the angle of depression changes to ﬁIIID. The total
time (in minutes) taken by the boat to reach the shore is

Options:

Question Number : 120
Correct: 2 Wrong: 1



TSl & el U GST U ek U ATd &l @dT &, T 36 TAT TR @i Eﬂnﬁ,ﬁaﬁmﬂﬂqﬁMMtaﬁm%ﬂfm
el & T T A AT =T & AT TR a 12 ﬁﬁtmmwaﬁwﬁnnﬁwﬁ +ATel @t Tt Feh Uger | W el e
A7 (et /) 21

Options:

s %12

™

B. % 15
¥ 18
D % 17

E * 35

Question Numbers: (121 to 125)
study the following table and answer the given

City Percent population Ratio of the number of Males (M) and females (F)
Below
Poverty Line (BPL) BPL Not BPL
M:F M:E
A I8 5:4 3:2
. 14 3:4 Ay
C 25 2:3 4:5
3 22 5:6 3:2
E 10 3.2 6.5
¥ I8 4:5 2:3
questions
Sub questions

Question Number : 121

Correct: 2 Wrong: 1

If the total population of city A 15 300000, then the difference of the munber of males (BPL) and the munber of females (Mot BPL)
in this city is

Options:

A % 30000

B. # 54000

C. ¥ 63400

D. % 74400

E. % 03400

Question Number : 122

Correct: 2 Wrong: 1

If the population of females (BPL) i city D 15 24000, then the total population of city D {in thousand) is
Options:

y % 176

A
B. ¥ 200

c. % o

D. % 240

E % 440

Question Number : 123

Correct: 2 Wrong: 1

If the population of male (not BPL) in city E is 27000, then the total population of this city is
Options:

A % §7500



B. * 65000
C. % 50400
D. ¥ 40500
E. ¥ 55000

Question Number : 124
Correct: 2 Wrong: 1

If the total population of city B is 500000 and that of C 15 350000 then the ratio of the number of females (BPL) in B and C is
Options:

AV 1601

B. * 21:16

C *6:7

D *7:6

E *47

Question Number : 125

Correct: 2 Wrong: 1

If the total population of city F 15 400000, then approzimately what percent of the munber of famales (not BPL) is number of
males (BPL) in this city is

Options:
A % 366
B. % 217
Co%® 184
D. ¥ 163
E #1038

Question Numbers: (121 to 125)
o ATTRIERT T 3reara ity 3 0T & FoE Sy

EEIRS giderd AaaEar qEuT (T ) T AR (7 ) &1 g5 # U
I @ I AR
BPL BPL =Tar
(BPL)

9 H T H
A 18 5:4 3:2
B 14 3:4 h:7
C 25 2:3 4:5
D 22 5:6 3:2
E 10 3:2 6:5
F 18 4:5 2:3

Sub questions

Question Number : 121
Correct: 2 Wrong: 1



AT AT A T ol =-Teedr 300000 8, T (=1 O Uet ) Qo1 1 HEAT 31 (& U Ul J51 yAigerail @i HEd0 @7 361 &
Options:

A % 30000

B. ¥ 54000

c. ¥ 63400

D. ¥ 74400

E % 03400

Question Number : 122

Correct: 2 Wrong: 1

T D H AT (=l O Ul ) Tigeelt Sl ST 24000 2 Td AT D &1 el ATEET (AR H) 8
Options:

A %176

B. ¥ 200

c ® 211

D. ¥ 240

E. % 440

Question Number : 123

Correct: 2 Wrong: 1

T E # fey (& ot wer 8T ) Rt Y wear 27000 &, 77 56 AR G gt SeEar
Options:

A % 67500

B. ¥ 66000

C. ® 50400

D. ¥ 40500

E ¥ 55000

Question Number : 124

Correct: 2 Wrong: 1

AT A B & et ST S00000 § 7 AR C T et SaET 350000 & , e B T=7 C o 57 (=i it Ue) Aiga & 30T g
T &

Options:

A Y1621

B. ¥ 21:16

C.®6:7

D. % 7.6

E ® 47

Question Number : 125

Correct: 2 Wrong: 1

qﬁm%ﬂr T FoT AEEIT 400000 § T 6 AT H (off U U 51 ) AiEemalr @1 ST o7 oI a7 uid e (off o Oet) e &1
HET

Options:

A % 366

B. ¥ 217

C. * 134

D. ¥ 16.3

E #® 08

Question Numbers: (126 to 130)



Study the following tables & graph and answer the questions

Break- up of items exported each month

Country X's Export (in Rs. Croeres) in different months of 2014

Months Janwary Febrary March April May June
Exports 350 300 330 290 325 385
(Rs Crores)

Sub questions

Question Number : 126

Correct: 2 Wrong: 1

What 15 the average export ( in Es. Crores ) of wheat from January to June ?
Options:

A % 707

B % 877

c. %010

D Y014

E * 1108

Question Number : 127

Correct: 2 Wrong: 1

The export of wheat in January 15 approziunately what percent greater than that of rice in May 7
Options:

A %543

B. ¥ 513

J4.3
c ¥ 503
D % 401
E % 354
Question Number : 128
Correct: 2 Wrong: 1
The export of pulses in June 15 how many times that of sugar in February 7
Options:
A %065
B ¥ 154
C. % 1.06
D # 158
E % 176
Question Number : 129
Correct: 2 Wrong: 1
The export of coffee and "others’ together in March is approzimately what percent of the export of wheat and rice in April 7
Options:
AR
B. % 34



c % 33

D. *® 424

E ¥ 45

Question Number : 130
Correct: 2 Wrong: 1

In the pie-chert, the swmn of central angles is IDED of the two sectors representing

Options:

A ¥ Pulses and coffee
B. * sugar and rice
C. * wheat and others
D ® pulses and wheat

E * riceand sugar

Question Numbers: (126 to 130)
A AR 3 A o e TR o ne I T S

2014 F BE= 78T # 2w X 71 FiE 5 s o)

AT Feadr T AT i o el
i (3 350 300 330 290 325 385
FAT H )

Sub questions

Question Number : 126
Correct: 2 Wrong: 1

SAAeT € S T T BT 3 FiT (Faig #) A g 7
Options:

Question Number : 127

Correct: 2 Wrong: 1

et | T W 0T, WS H STere @ Tia & ST T wie e aier g 7
Options:

A %573

B. ¥ 523

223

o ¥ 5.

=]

D. % 407
E % 354
Question Number : 128
Correct: 2 Wrong: 1

S H G W T, et ® =T @ T @ A A g 7

9% A A A & a5 aegan & faarr




Options:

A %065

B. ¥ 1.54

c * 1.06

D. % 158

E # 176

Question Number : 129
Correct: 2 Wrong: 1

I H T 3 S W1 el THADE 21, S H TIg 31T SATerel @7 Pot THerehy =i T #T & 7
Options:

A ¥ 234

B. ¥ 34

c. *® 33

D. % 426

E ¥ 45

Question Number : 130
Correct: 2 Wrong: 1

U T |, 3 21 BeRveT i T vt i 1080 &, S R o el e
Options:

A Y TR SR AT

B. ® =it 3fiv ameer

C. * g ol e

D. ¥ g i iy

E. ® aee o =T

Question Number : 131
Correct: 2 Wrong: 1

Find out the word-pair in which the two words hold the same relationship as the two words i the word-pair given below.
Lightening : Thunder

Options:

A ¥ Pain Injury

B. ¥ Disease : Medicine

C. # Accident : Drriving

D * Coolang : Eitchen

E. * Flood : Water

Question Number : 131
Correct: 2 Wrong: 1

et Tau T 39 Sea-SEAT W uaT Amey S ek i T 3 e SISt o g drey gl
Options:

A v“’az%a‘l?

B. ® 7 afmier

C. ® gefear: gl

D. ® Q@7 U 6



E #* @ =

Question Number : 132
Correct: 2 Wrong: 1

The first two terms on the left side of the sign "' are related in a certain way. The same relationship holds for the second pair of
terms on the right side of the sign " of which one 15 missing. Find the missing one from the alternatives.

BYWD : XCFU .. WDFU . 7

Options:

A ® DWTG

B. ® FURI

C. ® EVTG

D. ¥ FUSH

E ¥ EVSH

Question Number : 132
Correct: 2 Wrong: 1

TEIgg ' ® WS AY o Ugel G SIThS Ut WIE g | SrTed ol i ' H SiieeT 9 @ gl & gad et o ol H qHT dhewer B
&, TR & Ter e 81 Teeedt # € T9 T T 09T AT
BYWD : HCFU .. WDFU . 7

Options:

A ¥ DWTG
B. ¥ FURI

C. ¥ EVIG
D. * FUSH
E ¥ EVSH

Question Number : 133
Correct: 2 Wrong: 1

The first two figures on the left side of the sign "' are related in a certain way. The same relationship holds for the second pair of
figures on the right side of the sign "' of which one 15 missing. Find the nissing one from the alternatives.

. -./ + )
) N

o

[\

Options:

/£
N



D
©
&

I
DY

]

E.

Question Number : 133

Correct: 2 Wrong: 1

TEIgg ' ® WS AY o Ugel G SIThS Ut WIE g | SrTed ol i ' H SiieeT 9 @ gl & gad et o ol H qHT dhewer B
&, TR & U e 81 Toeedt # € T T T OaT AT

R SR B

e

I
N/

Options:




Question Number : 134
Correct: 2 Wrong: 1

Which munber will come nezt in the following number series?
1, 2,6, 21, 88,7

Options:

]

A %3
B. ¥ 445
C. *® 441
D. % 268
E % 465

5

[

Question Number : 134
Correct: 2 Wrong: 1

1,2, 6, 21,887
Options:
A ® 355
B. ¥ 445
C. * 441
D. ¥ 268
E %# 465

Question Number : 135
Correct: 2 Wrong: 1



Which munber will come next in the following munber series?

3,6,18,21,63,7
Options:
s, % 130

£k

B ¥ 47
C % oo
D ¥ 65
E % 72

Question Number : 135
Correct: 2 Wrong: 1

3,6, 18, 21, 63,7
Options:
A % 130
B. ® 47
c. ¥ oo
D. ¥ 66
E ¥ 72

Question Number : 136
Correct: 2 Wrong: 1

Which munber will come nest in the following number series?
1, 6,13, 30,61,7

Options:

A%

B. ¥ 126

C. % o4

D % 116

E % op

Question Number : 136
Correct: 2 Wrong: 1

1, 6,13, 30, 61,7
Options:
A %14
B. ¥ 126
C. % 04
D. # 115
E % og

Question Number : 137
Correct: 2 Wrong: 1



A mizture of 56 lters contains milk and water in the ratio of 5.2, How much water(in hters) should be added to the mixture so that
the ratio of mulle to water becomes 5:47

Options:
A Y15
B * 13
oo
D. H Ty

E # 24

Question Number : 137

Correct: 2 Wrong: 1

56 wie & e THOT H e 31T UTHT T 31Ut 5:2 31 THeqor # 8i Tepere O eliee #) TR =gy o gor o Ut &7 arguTa 5:4 &
E1

Options:

A Y 16

Question Number : 138

Correct: 2 Wrong: 1

When 40% of a mumber is subtracted from 119, the result is the munber itself The munber is;
Options:

A % 0p

B. % 75
C. % 28
D *
E ¢

0

]

[T
aJ

Question Number : 138

Correct: 2 Wrong: 1

el e T o 40% 1 110 H F U2 AT 8, 97 TR0H T o6 T 9E AT ATd T O 9T b
Options:

A % op

® 75

oo
[a]s]

U o w
[ ]
[ ]

%
%
o

2|

A o
. (=]

Question Number : 139
Correct: 2 Wrong: 1

Ina class of 60 students, 30 passed in Mathematics, 40 passed in English and 10 failed in both the subjects. How many students
passed in both Mathematics and English?

Options:

A %10
B.%® 15

o9



D % 25
E % 3p

Question Number : 139
Correct: 2 Wrong: 1
G0 BT &1 Teh T H, M0 H 30 FH0 g, ST H 40 F07 gU, 3T 10 SE1 Tt ® hel gF T i S STt ST e §

Options:
s %10

.

B.¥ 15
¥
D. 33 aFa
E % 30

Question Number : 140
Correct: 2 Wrong: 1

If &4+ B means A 15 the father of B; A - B means A 15 the wife of B, A = B means A 15 the brother of B and A +B means A 15 the
daughter of B, then

Which of the following means ‘P is the maternal uncle of 5'7
Options:

A ®Rx5-Q+8

B.®* PzQ+R=5

C. ¥PzR+Q~5

D.YPzQ-R+5

E ¥ RzS+Q-8§

Question Number : 140
Correct: 2 Wrong: 1

T A+BFTHIAS G B T HATA S A-BFTAdoa 2 B I UG AL, AxB FTATAa & ToF B FTHTE A §; 3T A +B &7 Ada=
sTFBHTOETAR 79

TEET # ¥ T Aqea & ' S WTAATR 87
Options:

A ®Rz5-Q+5

B. ¥ PxQ+R+5

C. ¥ PzR+Q=+5

DYPxQ-R+5

E ® RzS+Q-§

Question Number : 141
Correct: 2 Wrong: 1

In a family of § members, & is the grandson of E who is the father of B. C is F's mother and wife of B. If B is the son of D, how
15 D related to F?

Options:

A ® Paternal grandfather
B. ¥ Paternal grandmother
C. % Maternal grandfather

D. * Maternal gratdmother



E #* Maternal aunt

Question Number : 141
Correct: 2 Wrong: 1

fHEE FUF AR H, EFT AT A ATB FT T8 C, F FT AT B HT 0T 51 AT D FT 2T B & a1 D TTF & 27 Tra=el 27
Options:

A ® FEr

B. ¥ ZIar

C. % Amr

D. ¥ 9t

Question Number : 142
Correct: 2 Wrong: 1

Among six friends, B, C, D and F are from the rnural area. A, B, D and F are players. A, C, D and E are students.
Who 15 a student from the rural area but is not a player?

Options:

5 e E

A
B. % B
o e
D.*D
E ®*F

Question Number : 142
Correct: 2 Wrong: 1

FECAi A B, B, C,D 3R F A &3 €81 A, B, D 3R F MaST 81 A, C, D 3T E 913 §1 TTHIT &85 § &1 819 &, i
Options:
s % E

A
B.*B
c ¥
D.*D
E *F

Question Number : 143
Correct: 2 Wrong: 1

We have the following information regarding the scores of seven students A, B, C, D, E, F and G in their school ezanmnations.
a. A always scores more than G who always scores more than F.

b. In any examination, if E scores the highest, C scores the least or if I scores the highest either B or F scores the least.

c. Mo two students get equal scores.

If in an examination, F and D are ranlced 3th and Gth respectively, which of the following can be true?
Options:

A ~

o . il
A % Eisranked 27 or 3

. . nel ~th
B, * (isranked 27 or 5

¢ % Adsranked 1% or 4th



D. * Cis ranked 4th or ﬁth

E ¥ B is ranked 31ﬂ or 4th

Question Number : 143
Correct: 2 Wrong: 1

AU 7 O A, B, C, D, E, F 3T G & Thet 1 wirgmart § e a7t & ame # Fgio e St 21
31 A GHAT G W1 qoiAT # ST 37eh WIH HXaT 5 = F @1 Joi-T | gHET SITern 37eh WTH Hear ol

o, Tepet T OOieT H, i E I5aH 219 UTH @edT 5, 91 C Tele TH 379 0T ed T 5 37 3 D W 20 0T @47 & The AT af B ImF
e TH 375 0IH @t gl

| Teeel |l 1T BT aXTe) 31 A5l (Mol &l

3 U ULTAT H, F 3fT D @ @RS Sa7 3T 67 ¥ 7oy T &, 91 Faiead # € @ | 919 9= 5 9@ 1 57
Options:

A ® Egr 2" oy sute R mr g
B. ¥ gt 2T ar3 o e man g
C. % agr 1™ a4t T
D. % cara™ am 6" ta AT TR E
E. ¥ Bt 3" ar 47 to R e 2

Question Number : 144
Correct: 2 Wrong: 1

Five pairs of words are given below out of which the words in four pairs bear a cotmunon relationship. Which is the odd pair out?
Options:

A ¥ Doctor : Medicine

B. ¥ School : Class

C. ® House : Room

D. # Pencil : Lead

E * Boolk: Chapter

Question Number : 144
Correct: 2 Wrong: 1

Fter sreat & urr wie T T # eH | T i & Seal § U oTH g4 § 590 € st AIS i dg Greee Agl ) @i 9t 27
Options:

A ¥ =Tger  Fiftedr

B. ® woer : waT

C. ® = @A

D. #® ofaw - wig

E % g&qe: areaR

Question Number : 145
Correct: 2 Wrong: 1

Four letter clusters are given below out of which four are alike in some manner and one is different. Which 1s different from the
rest?

Options:

& % YURP



B. ¥ BEIN
C. ® FHKO
D. ¥ LORV
E % vQnI

Question Number : 145
Correct: 2 Wrong: 1

e TR 21eRt @ G U 0 2, S € 9§59 a0t B Ud € § 31T U STAT g1 Wi 6T e arenl e € 3@ 7
Options:

A ® YURP

B. # BEIN

C. ¥ FHKO

D. ¥ LORV

E % vQMI

Question Number : 146
Correct: 2 Wrong: 1

Frve figures are given below, four of which are sinilar in a certain way and one is different. Which is different from the rest?

Options:

i
A "
g ® C
A
/ kY
»
\'\. /’J
\‘\—,’f
Co*®
D %
E ¢

Question Number : 146
Correct: 2 Wrong: 1



= U eF fam 0 B, T € =R uw e 9 # W 8 3T U 349 3T g i |7 I aTent € 31T 57

Options:

AW N
B *
A
/ b
»
\'\. /'J
\\—f’f
Co*®
D %
E ¢

Question Number : 147
Correct: 2 Wrong: 1

Five figures are given below, four of which are similar in a certain way and one is different. Which is different from the rest?
Options:

=

e
@

/

c v



>\"'-\.._.'-"'
—
)
D ®
\\
H"\
E ® wod

Question Number : 147
Correct: 2 Wrong: 1

i U TE om0 £, e | TR ue e Jiie ® 90 B 3T U 39 31T 5 @i |7 I et & ST 87
Options:

el
.
A ®
l /
B ®
I
/I--—--,“I‘L
c
|
>‘\-___F~'
—
)
D ®
\\
N"\
E % i

Question Number : 148
Correct: 2 Wrong: 1

Five fipures are given below, four of which are sinilar in a certain way and one is different. Which is different from the rest?
Options:



Question Number : 148
Correct: 2 Wrong: 1

I o T Tam o 8, T € = U e deier # 9 E A U 39 ST B @i 6T i Senl € S a7
Options:

B
r'_ [ L ]
L] *-_L_ -'. .
L\\_L - a9
. __.’

A Y 1
‘. - ll
B ®

i




Question Number : 149
Correct: 2 Wrong: 1

Ina city, the houses A, B, C, D, E, F and G are sitvated as under:
D is 5 lom to the West of F. C is 5 lon to the East of & B is 1 lon to the West of & E i3 2 lom to the South of B, G i3 6 lan to the
East of E. A i3 3 lan to the South of D

Which three houses lie in a straight line?
Options:

A % CEG

B. ¥ ADE

C. ¥ CFG

D. * BEF

E * CDF

Question Number : 149
Correct: 2 Wrong: 1

U Mg H, A, B, C, D, E, F #IT G ol & Hiel & e eheredd ol T &

Fahabam al iR S R D I AT qE HS AT IR C Q1 AT U ot | RPRT IRB I B g H 2 el WE BN E g o
6 TeRHT T O G 81 A < ST8T H 3 T &1 ger iX A 8

T & T T U |et T H ued 87

Options:

A ¥ CEG

B. ¥ ADE

C. ¥ CFG
D. * BEF
E. * CDF

Question Number : 150
Correct: 2 Wrong: 1

Three boys, Wohan, Suresh and Sambeet and two girls Meena and Sabnam sit in a line. In how many ways can these three boys
and two gitls sit, if boys are always to be at the comers and the girls will not be adjacent to each other”?

Options:

A %6

B. ¥ 12

oo®3g
D * 4
E # 13



Question Number : 150

Correct: 2 Wrong: 1

T S, HigH, GO 3R Gield a9T 31 A2 1haT AT 1T TelT UeF 51 Uik H ofdd 8l T1e, S ol gHIT BT H AT 51 AT
FIS Tl U GA¢ § THRt 51 a8 a1 I ST TS 31T S ST S-S0 T TO@t H o6 Twdl 57

Options:

no g

o
B ¥ 12

oo®3g

D * 4

E # 13



